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We give the model for an unknown theory, which isleft as an open problem.
1) B, ={0LA,% isthe binary Boole algebra, where 'A ' is the modulo 2 sum and "' is

the intersection. For ni {2,3, B isthe space, x,y,..I B arethepoints, {x, y},x* y arethe

__ def _
lines. The addition (x,y) a xy = xA y makes Bg a Boolean affine space. xy are the free

vectors.
Let us define for any points x, y, z,wi Bg,x1 y,z1 w, the parallelism
(1.1) {(x ¥} {zw U xy=z2w0 xA yA zAw=0
Thisrelation also shows that x,y,z,w are affinely dependent and that the vectors x_yx_zx\_N are
linearly dependent. Theset P ={x, y,z,w} where (1.1) istrueisaplane (of dimension 2).
"{x,y},theset SI {x,y},S? A& isasegment. It'slengthis
i1,if cardinal S=2

1.2 S|=
(12 ""%anwwmﬂs=1

_ defs if v1
! X)y|Z SOthaI Xl y,Xl Z,yXZ - :,{X'{ylz}}ll y Z

_ is an angle (or an arc as well).
{x{y} .ify=z

It'smeasureis:
— ilifyt z

(1.3) m(yxz) = L0,else

Fixingin P ={x,y,z,w} apoint x means choosing an origin of the coordinates; fixing
an y1 P - {x} means choosing an origin of the angles, the line {x, y} . Fixing an zI P - {x, y}
means choosing an orientation.

In fig 1, (0,0) is the origin of the coordinates, {(0,0),(1,0)} isthe origin of the angles and
the orientation was precised.
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(a,1)

(1.1) - (1.0}

figl
Now it is possible to define the measure of the angles in the oriented plane by:
(1.4) m((1,0)(0,0)(1,0)) =0
m((1,0)(0,0)(01) =1
m((10)(0,00(11) =2
and it is seen that 0,1,2 are integers or modulo 3 classes, the same role having here the integer 3

like the number 2p inthereal geometry.
The fundamental trigonometrical functions are

j 1s|c
0(0]1
1/1|0
2111
table 1

that satisfy
(1.5) S1+i2)=s( 1)x( 2)A s( 2)xc( 1) A s( 1) xs(j 2)
G 1-72)=80 1) 2) A s 2) (1)
c(1+j2)=cl 1)l 2) A s 1)*s(j )
c(1-i2)=cli 1)l 2) A s 1) 2) Al 1) 2)
Here, '+' isthe sum of the integers or the modulo 3 summation.

Fig 1 represents also a circle with the center in (0,0) (and the radius 1). It may be written
in the form:

(1.6) C((00) ={x|xT BZ,I{x(0.0)} =1

C((0,0) ={(xq, x2) Ix1 =¢(j ), x2 =s(i ).j T Z}
The sphere with the center in (0,0,0) (and radius 1) is

(17)  C((000) ={x|x] B3, {x (000} [=1

C((0,0,0)) ={(x1,X2,X3) | X1 = 8(j ), x2 =c(j ) xs(a), x3 =¢c(j ) >c(a),j ,al Z}
j =ct and g=ct represent circles, j * 1. ] =1 represents the (unique) pole of the sphere. It is
seen the position of the points (x3,Xo,X3) of the sphere when we associate them the values

X1 X2 + X2 2L + X3 20 (sum of integers).
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2) The complex numbers are defined by:

not

(2.1) "zl C2=822,z:(x,y) = xAixy
andif z* 0, then there exists atrigonometrical form
(2.2 z=c(j)Ai>s(j),j1 2z
(see (1.6)). The laws of addition and multiplication are:
(2.3) (xAiyYAXAIDY)=xAxAis(yAy)
(2.4) XAy xAiy)=xoxAysyAisoyAysxAyy)
and from (2.4) we infer that
(2.5) (e )Ai>s(] ))>(c( DADS{ ) =c +iYAiS{ +])
For acomplex number zI C, with anon-null modulus:
(2.6) |z|=xEy
theinverse element is:
2.7) 7 =(xAixy) L=xA yAixy=c(-j)Aixs(-j)
We remark that
11,n=3k
(2.8) "210,2"={zn=3k+1 ,nki Z
1zl n=3+2
Bibliography

[1] R. Miron, D. Branzei, The Fundamentals of the arithmetics and Geometry (in Romanian), ed.
Academiel RSR, Bucharest, 1983

PDF created with FinePrint pdfFactory trial version http://www.fineprint.com



http://www.fineprint.com

